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Until the black is more, etc. - 99D AW AR TY

Overview

The &n»12 states the view of 777177 " that a 71v can be jR»72 until the black is more
than the white. This would seem to imply that there needs to be sufficient pubic hairs
(black) that it is more readily seen than the skin (white). m501n questions whether
the X073 is 12977 %V or not.
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Some texts do not read 'Ja%n7 ', since X2pW n states in 3290 X2 PR9, that when "

a7 stated MNWA 72700 TV —
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It does not mean that there should be much hair, rather it means that there should
be two hairs that are long enough so they can be lying flat, so it appears as if there
is much black hair -
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However, stating 32%77 ¥ 27w 727w implies that the hair (black) is more apparent
than the white (skin), and according to X2 77 it is not so —

mooin offers an alternate explanation of :12%7 %y Mnwn 727w
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And the n"'9 explained that 257 %¥ 21wn 727° means that the hair close to the
body (near its roots) are black, and at the top (further away from the root) the hair
is white -

Summary
We are not 1251 H¥' 093, if 127 refers to the skin (for we only need two long hairs),

however if 129 refers to the (top of the) hair we can be 12777 H¥' 0.

Thinking it over
If we are not '12%77 H¥' 073 in the words of 77170 ', what is the np1onn between n'
and °"1?

! The mwn there states, MW 7277w TV 773 " X (without adding 1257 7v).

2 See >"wn there *nw 1"7 who writes N21R V"W,

3 According to the 11" it means that the hair is more black than white. Therefore, we can be '12977 %¥' 013, and it is not
in conflict with X3pw 77, for we are discussing the color of the hair only (not the skin).
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